HEIUT BHEH#hX
MRt 7—RAVT4=T 4

[RR &R TR (B s st
( 20244124 BRetmER)
TEROBYARBERBRARBEMESMSEN=LET,

JRAH B R 2 AT 32.61 F4/nd (Ft2d)
(&)
JRAHE % 5 22 AR 202447H~202449R
B VDICe St 93,880 M/t (Bidk)
(b 7= 4 i B DRTHRE A BLNG - LPGH A BB 8 K U A fiH)
HAE 1 RS (F3) 57250
LNG(F9) LPG(F)
202447 B ~202449 7 T 93,630 93,870

b AV RMBE DR E
b L 7zYLNGF 9 fHi#E X 0.9479 + b % 7YLPGFH1H# X 0.0646

- 93,630 FI/tx0.9479 + 93,870 M3/tx0.0546
= 93,880 M/t(# )

RHEEEBEOEE

b H7Y RIS — B2 T RAHEAE
= 93,880 M/t - 57,250 A/t = 36,630 M/t

= 36,600 FH/t(100mk#L18)

R EFAEEMmIHYARBOETE
JFAHEHS 2 8% + 100 x 0.0891 —(0.081 > HEHI %K)
= 36,600 F/t +100%0.0891= 32,61 F/mM(Bid)




